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Choose the correct form of verb to fill in the blank :

Risks come from not what you are doing ?
(A) have known

(B) known

(c) knowing

(p) know

Sl. No.2
QBID:1555042

Choose the appropriate preposition to complete the sentence :

Her request for a transfer was turned
(A) WP

B) for

(¢) down

(p) through

Sl. No.3
QBID:1555043

Pick out the correctly spelt word.
(A) impromptu

(B) inprounptn

(C) inpromputue

(D) inproptune

Sl. No.4
QBID:1555044

Identify the correct indirect speech of the following sentence.

He said to me. "I don't believe you"

(A) He said that he doesn't believe me

(B) He told me that he didn't believe me.
(c) He told me that he didn't believed me.
(p) He told me that he didn't believe him |

Sl. No.5
QBID:1555045

Rearrange the following parts of a sentence labelled PQRS to make a meaningful sentence.
P. overflow of powerful

Q. recollected in spontaneous

R. Poetry is a spontancous

S. feelings - emotions

(a) QSRP
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(8) RP5Q
(c) QSPR
(p) SQRP

Sl. No.6
QBID:1555046

Pick out the antonym of 'strength’
(A) meekness

(B) Tevenge

(c) frailty

(D) energy

Sl. No.7
QBID:1555047

Choose the correct sentence.

(A) He had not left, we would have been forced to evict him

(B8) Hadn't he left we would have been forced to evict him.
(¢) Had he not left. we would have been forced to evict him

(p) He not had left. we would have been forced to evict him.

Sl. No.8
QBID:1555048

Choose the correct passive voice form of the following sentence.

He may have eaten the cake.
(A) The cake might have been eaten by them.
(B) The cake may have been eaten by him.

(c) He had eaten the cake.
() The cake might have been eaten by him.

Sl. No.9
QBID:1555049

Pick out the synonym of the following word - 'captivating’.
(A) disappointing

() frightening

(c) fascinating

(D) frank

Sl. No.10
QBID:15550410

Identify the part of speech of the underlined word in the following sentence.
Let us even the ground.

(A) Verb

(B) Adverb

(c) Noun

(p) Adjective

Sl. No.11
QBID:15550411

Who has been appointed as the new chief economic advisor (CEA) to the Government of India ?
(A) V Anantha Nageswaran

(8) Arun Kumar Singh

(c) Vijay Sharma
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(p) Kartik Sen Gupta

Sl. No.12
QBID:15550412

Which of the following companies are among the recently created 7 new Defence Public Sector Undertaking Companies, which were
created through restructuring of OFB (Ordiance Factory Board) ?

A. Weapons India Limited
B. Munitions Indian Limited
C. Yantra India Limited
D. Gliders India Limited
Choose the correct answer from the options given below :
(A) A.Band D only
8) Cand D only
() A.C and D only

(o) B. C and D only

Sl. No.13
QBID:15550413

Name of the autobiography of Kamala Das is :
(A) My Story

(B) ListenI Tell You

(c) Wings of Fire

(p) Autobiography of an Unknown Indian

Sl. No.14
QBID:15550414

A small organ at the base of the brain that produces substances that affect growth and sexual development (hormones) is called :
(a) Pituitary Gland

(8) Hypothalamus

(c) Pineal gland

(D) Adrenals

Sl. No.15
QBID:15550415

Who among the following is the first woman to receive two Nobel Prizes ?
(A) Marie Curie

(B) Andrea Ghez

(¢) Donna Strickland

(p) Maria Goeppert Mayer

Sl. No.16
QBID:15550416

In a certain code language

"uo ja ka hu" means 'we great Indian country’,
"oi ka la ju" means 'we score good highest'.

"la fu ja ju" means "India score the highest”

and "ju uo na fu" means "highest of the country”.

Then what is the code of "great” m this code language ?
(A) uo
B) ka
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(© ja
(D) hu

Sl. No.17
QBID:15550417

If "A@B" means A is the mother of B
"A#B" means A is the father of B

"A z B" means A 1s the son of B

How is X related to Z from the given equation ?

XYz Z
(A) X is the grandson of Z.
(B) Z is the grandson of X.

(€) Z is the father of X.
(D) Z is the mother of X

Sl. No.18
QBID:15550418

Global Hunger Index is released by which of the following organizations ?
(A) World Health organisation

(8) Concern Worldwide & Wealthungerhilfe

(c) Food and Agriculture organisation

(p) World Food Programme

Sl. No.19
QBID:15550419

Seven dance students- T, U, V, W, X. Y and Z - are to give a performance. and the judges have to decide the sequence in which they
will perform. Each student will perform exactly one item. a solo ballet. In deciding the order of performance. the mstructor must observe
the following restrictions :

1. X cannot perform first or second.

2. W cannot perform until X has performed.

3. Neither T nor Y can perform seventh.

4. Either Y or Z must perform immediately after W.

5. V must perform cither immediately after or immediately before U.

If U performs third, what is the latest position in which Y can perform ?
(a) Fifth

(B) Sixth

(c) Seventh

(D) Fourth

Sl. No.20
QBID:15550420
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A country has seven major cities - A, B, C. D, E, F and G. Three flights labeled X, Y and Z are available to connect the cities following
the rules :

Flight X has its ends at A and C. and passes through B only.
Flight Y has its ends at B and C. and passes through D only.
Flight Z has its ends at E and G, and passes through F only,
Directly connected cities are those cities between which there is no other city to land any flight.

Which of the following city is directly connected to the most other cities ?
() A
) C
(c) B
() D

Sl. No.21
QBID:15550421

In how many different ways can the letters of the word AUCTION be arranged in such a way that the vowels always come together ?
(A) 676
(B) 476
(c) 578
(D) 576

Sl. No.22
QBID:15550422

The surface area of a cube is 1734 s.q. cm. Then volume of cube is...
(A) 289 cm?
(B) 4913 em?
(©) 4931 em?
(D) 4319 em?

Sl. No.23

QBID:15550423
If 1 .then x4+ }'2

E
y 3 2

(A) —

(B) -7

(©)

(D)

[W O I S N RV

Sl. No.24
QBID:15550424

How much time will it take for an amount of F 4.5% to yield F 81 of interest at 4.5 % per annum of simple interest ?
(A) 4 years
(B) 5 years
(c) 3 years
(D) O years

Sl. No.25
QBID:15550425

The average of 7 consecutive numbers is 20. Then sum of smallest and greatest number is
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(A) 23
) 17
(c) 40
(D) 30

Sl. No.26
QBID:1575091

Histone plays a major structural role in chromatin formation. A few exceptions. exist. most notably some sperm, where the histones are
replaced by another class of basic protein named as

(A) non-histone chromosomal proteins
(B) protomines
(c) nucleosomes

(D) Primosomes

e H. foeH e go WRaTds frurar & | faflw 309 o8 Yo sud suars i § Tl e &1 ga UidH & U@
31 7 P gRT ufqenftd o fRar o 8 | s am R -

() feeRigd HEEHd WeH
(8) HieHEA

(c) gfeeardam

(0) WIEHE

Sl. No.27
QBID:1575092

Cetyl trimethyl ammonium bromide (CTAB) method is generally used for
(A) precipitating nucleic acids

(B) precipitating protein

(C) precipitating neutral polysaccharides

(p) lipids

RerEd crefuEd sHigd smEs f&fd &1 wan JrRuG: fdyd i fear S e 2
(a) foRTge RIS @1 3aauu

(8) WIEH BT [a&guy

(©) gd UIdpISS &I Saayu

o) fafus

Sl. No.28
QBID:1575093

Entry of pollen tube into the ovule through funiculus or integuments is referred as
(A) Mesogamy

() Porogamy

(c) Xenogamy

(p) Chalazogamy

ORI AT BT dioiTs § IS]H I7 S{eATaR0 & §RTFa H3 & 71 $ed ¢ 2
(A) THUA

(8) 3fSGRI yaw

(© WA

(D) ﬁ'J-IFﬂTﬂ:[

Sl. No.29
QBID:1575094

6 of 35



The conventional ovule is lacking in the members of family

(A) Cucurbitaceae
(B) Loranthaceae
(c) Rutaceae

(0) Apiaceae

a7 T fry aRaR & Yol § URMERS diviis Tel ol 6 ?
(A) Wﬁ%ﬁ

(8) WAL

(© =&t

(o) TfTeHT

Sl. No.30
QBID:1575095

Little leaf of brinjal is caused by

(A) Viruses

(B) Bacteria

(©) Mycoplasmas

(D) Nematodes

S 1 BIET ORll B PTHRU B 2
(CYRCIEES]

(8) gaefar

(©) HIgHIESH

(0) HHers

Sl. No.31
QBID:1575096

Sclerospora graminicola causes a disease called
(A) Downy mildew of pea

(8) Downy mildew of mustard

(c) Green ear disease

(p) Wart of potato

THORITRT BT gRI 611 aTd AT & T Hed & 2
(a) TCR ] TERIMe San

(8) Tl DI GG TR

() gRd arefl I

(D) Gﬂqﬁw

Sl. No.32
QBID:1575097

The 'Cup fungi' belong to the members of the order
(A) Sphaeriales

(B) Erysiphales

(c) Pezizales

(p) Ustilaginales

PU-HAD A D [ Jowl I YeY TG & 2
(a) THRTH

(8) TWEEHE
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(© Tl
(D) SRR

Sl. No.33
QBID:1575098

Which of the following exhibits Tunica-Corpus organization
(A) Araucaria

(8) Ephedra

(¢) Pisum

(D) All the above

9 & 9 B 91 o BT W69 B aRidl g 2
(A) Wi

(8) Tl

(c) HiHH

(0) HU f4u Ty [t

Sl. No.34
QBID:1575099

Which of the following plants yield bast fibers
(A) Miusa textilis

(B) Linum usitatissimum

(€) Ananas comosus

(D) Saccharum officinarum

5 & @ & a1 dhem ae dq Sdrfed BRar g 2
()] WW@W

(®) TETH FfFecivrH

(©) I PIFTH

(D) FIT SHIRIT

Sl. No.35
QBID:15750910

Which of the following is primarily responsible for the purgative property of the aywrvedic combination 'Triphala’
(A) Embilica officinalis

(B) Theobrome cacao

¢y Trifolium indica

(D) Terminalia chebula

3rde & Fmer Sty § 9 fa¥mar & g 398 9 08 o StRadi § 2

(A) UIGIPT STl

(®) fgisiar dot

(©) CIEHITT 3I8®T

(o) ZrEferar Feger

Sl. No.36
QBID:15750911

The abnormal warming of surface ocean water in eastern pacific is called
(A) LaNina
(8) ElNino
(c) LaNino
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(p) ElNina
udf 34Tt IR F Tae! Sd & SOuH S9N $ FHEd § 2
(A) AT
(8) T
(© dr=E
(o) TAHM

Sl. No.37
QBID:15750912

Maximum biodiversity is present in
(A) Polar region

(B) Temperate region

(c) Tropical region

(b) Sub-tropical region

ey Siafafasrar Fef urs ol 2
() YT &

(8) Sffcer &

(©) UG &

(0) U] &

Sl. No.38
QBID:15750913

The greenhouse gas which contributes maximum to global warming is
(a) CHy

(8) CFCs

© CO;

(o) N0

B I FHeTS 719 Tdlad a1 § ged i 9g® sl |
(a) CHy

(B) CFCs

© €O,

(@ N0

Sl. No.39
QBID:15750914

The pattern in which leaves are folded in the bud in relation to one another is :
(A) Ptyxis
(B) Venation

(c) Phyllotaxy

(p) Vernation

U WioR=Y fore- Ul U 8% & H1&Y il 3§ [ 8id € |
(a) fgey aeg

8) RRIfgTH

© uf fg=rg

(o) fHgea-fgarg



Sl. No.40
QBID:15750915

A specimen other than isotype. holotype or syntype. mentioned in the protologue is
(A) Lectotype

(8) Topotype

(c) Paratype

(D) Autotype

TSI H GHYDY, ATHURY 1 GeWoY o T & SHIdRad S 91 751 Hid & 2
(A) TTT9RH

(8) VUHULY

(c) HIULY

(p) WUIH

Sl. No.41
QBID:15750916

Tricolpate pollen grains are present in
(A) Laurales

(B) Nymphaeales

(c) Piperales

(D) Brassicales

Piaex®] RATHU fgH ae SiId & 2
(A) TReH

8) Ffiprs

(© TEWRE

) SRFEe

Sl. No.42
QBID:15750917

Sago is obtained from

(A) Gnetum

(B) Pinus

(c) Cyeas

(p) Ginkgo

TGS [ UIed Bial g 2
() Feg

(8) HIgTd

(c) HgPH

(D) ii?%’ﬁ

Sl. No.43
QBID:15750918

Modified endodermal cells in the stem of Selaginella are referred as
(A) Glossopodium

(B) Trabeculae
(c¢) Rhizophore

(o) Ligule

RIS & T 1 SUIdRG Siqsadl HIRIBISH BI BT T HEd & 2
(A) TAEOIfsTH
(8) TEYD
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(©) IEHHR
(D) ST

Sl. No.44
QBID:15750919

Which of the following part is missing in Rhynia
(A) Root

(B) Rhizome

(¢) Rhizoids

(D) Sporangia

o7 & 9 17 1 W 7T H e urn S 82
(a) 918

(8) Fag

() HOTHN

(o) TRfoET

Sl. No.45
QBID:15750920

Plant group that is also known as amphibians of the plant kingdom is
(A) Thallophytes

(8) Bryophytes

(c) Pteridophytes

(D) Angiosperms

U1 g o UIed SHTd & SHTER' & A § Hf I S g -

() JdmIEe
(8) SUIBIEC
(© tRemre
(0) 3Mgasisi

Sl. No.46
QBID:15750921

Psuedo elaters are found in
(A) Riccia

(B) Marchantia

(c) Anthoceros

(D) Sphagnum

ITURT Se: fbgd T od & 2
() RiFgar

(8) IRBIZT

(©) YRR

(o) THH

Sl. No.47
QBID:15750922

Which of the following is commonly known as "peat moss" ?
(A) Funaria

(B) Anthoceros

(C) Riccia

(D) Sphagnum
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e, Fe A 9 5 die ol ssd § 2
(a) FERTT

(8) TR

(©) T

(D) THITHH

Sl. No.48
QBID:15750923

Lichens are

(A) Antotrophs
(8) Heterotrophs
(c) Biotrophs

(p) Phagotrophs

AP (AEP-) FTE -
(A) TOret
(B) GRSt
() Siguret
(D) H&farst

Sl. No.49
QBID:15750924

Which enzyme catalyzes the covalent closure of nicks in DNA molecules

(A) DNA gyrase

(8) DNA ligase

(c) DNA helicase

(p) DNA primase

ST TF. T & UL § 1 W ToigH gHaTsie Jgiti Pl SRd Bl 8 2
(A) S TA. T IS

(8) S TA. U AR

(©) SI. T U gaiy

(0) SI.TA. U YIgHg

Sl. No.50
QBID:15750925

Which of the following chemicals has stabilizing effect on micro tubule assembly
(A) Colchicine

(B) Paclitaxel

(¢) Nocodazole

(p) Coleemid

3 TTu Em=l ¥ 9 59 0mE &1 geaAiis] dea- U R UuTE gial g 2
(A) BIADEMA
(8) Ufgercaud
(© s
(0) BifcHTrs

Sl. No.51
QBID:15750926

The synaptonemal complex is observed in which phase of prophase-I of meiosis.
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(A) Leptonema
(B) Zygonema
(c) Pachynema

(o) Diplonema

SIENTA BT qatawl1 B fohe e RGApHiTd Sicay Ul oldl & 2
(A) AP

(8) ST

(© TFHHHE

(o) TS

Sl. No.52
QBID:15750927

A protein involved in the formation of intermediate filaments of cytoskeletal framework

(A) Lamins

(B) G-Actins
(c) F-Actins
(D) o-tubulins

TEIUSR gfd & Hegad dgsfl & fafor & o= 9 uid afEfm e g o
(a) =T

() Sil-Tlde—g

©) UH-Ufded

(©) oS

Sl. No.53
QBID:15750928

Leucoplast is

(A) red in colour
(8) blue in colour

(c) green in colour

(D) colourless

3quff Ta® BT HA G & 2
(A) ©rd

(8) =i

(© B

(0) TMEH

Sl. No.54
QBID:15750929

After fertilization. zygote obtains all its plastid and mitochondria genomes from the maternal parent. this is also named as

(A) maternal inheritance

(B) pleiotropic effect
(c) varicgation

(D) biparental inheritance

8= & 91 grael o= 92t ©ia® quT ATseid gl Si-e AT SH@ 4 U &3l § | S9P1AH § -
(A) ﬂﬁm

(8) SEHHTGI THTG
(©) Fde+
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(0) fgoH® axrTa

Sl. No.55
QBID:15750930

Which one of the following is correct statement for Generalised transduction
(A) Occurs during the lysogenic cycle of temperate phage

(B) Some new viruses have both viral and bacteria DNA

(c) Phages penetrate bacterial cell and enter lytic cycle

(p) Viral DNA integrates into the DNA of the bacterium and replicates later
TIPS UhHUI & o181 faU T S § O SF T U 981 5 2

(a) 2T faeiisht & T 9% $ GRE AT |

(8) PB T4 ATERE! T [G9I0] 3R SIATY] DNA &1 81 U S € |

(© fauiish, sitar] SR o de- PR o IB A FAN R I 6 |

(0) GRY BT DNA, SIGI] & DNA & H1Y US1dd 612 a1g 4 Wil a1 8|

Sl. No.56
QBID:15750931

The structure which is responsible for locomotion in diatoms is
(A) Coste

(8) Raphe

(c) Valve

(p) Girdle

SIEUCH H THA & [T &1 It TRa-T omieR 82

(A) BT

(8) YW

(© dieg

(p) 9y

Sl. No.57
QBID:15750932

Among those given below which plant families have CAM species 7

(A) Poaceae
(B) Zygophylacas

(¢) Cucur bitaceae
(D) Asteraceae

= fou 70 Uiy ufart & feog | ou afidfie gidt g2
(A) T

(8) STGIftherd!

(o) Qﬁv_\‘ﬁ%@l

(p) TEIE

Sl. No.58
QBID:15750933

Which of the following is a primary. sugar source in translocation of phloem sap.
(A) Young leaf
(B) Mature leaf
(c) Young fruit

(p) Shoot tips



Ao X4 & MR E, F8 & I $1F 9 Jayd ThT 9 © 2
(A) 3ORYS Yt

(8) gRg® Tl

(© 3URYSH Bd

(0) WRIE BT AU

Sl. No.59
QBID:15750934

Principal form of carbohydrate that is translocated through phloem is

(A) Glucose
(B) Sucrose
(c) Fructose
(D) Starch

FIaElGIESC B DI 1 B $U FIIUH §RI §¥AidRd sidl g 2
(A) DT

(8) FhIol
(©) Waer
(0) HIS

Sl. No.60
QBID:15750935

The water splitting in photo system-II (PSD) is mediated by metal

(A) Mn

(8) Mg

(c) Fe

(p) Ni

TBTRICH-I1 (PS-11) H O foraTe [ 41q &1 Teaudl §R1 [l o1l §
(A) Mn

(8) Mg

(c) Fe

(p) Ni

Sl. No.61
QBID:15750936

The site of sucrose synthesis in plants during the process of photosynthesis is
(a) Chloroplast

(8) Cytosol

(¢) Mitochondria

(p) Golgi apparatus

TP TRIGREYUN & SR UIG Y] B el T YIAY0 Bl W lar s 2
(A) RIRITRE

() HIZerEd

(©) HIETIDIaT

(D) Ticall 39U

Sl. No.62
QBID:15750937

Stomatal opening is stimulated by
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(a) Red-light

(8) Yellow light

(c) Blue light

(p) Green light

8 R fdd gRI Seifud el & 2
(A) TITeT UPIRT

(8) Uiell HehT

(© i e
(0) BRI HPIE]

Sl. No.63
QBID:15750938

Which one of the following is an obligate anaerobe

(A) Halobacterium

) Thermus aguaricus

(cy Chlamydemonas nivalis

(D) Clostridium

5 & 9 S sifgaed s@rgeid © 2
(A) BaAldTINGT

(B) YNNI UBjchy

(©) FIHSSIHT [Haferg

(D) Wﬁﬁ%ﬂﬂ

Sl. No.64
QBID:15750939

Endospores can be formed by which of the following :
(A) Gram (—) negative bacteria

(8) Gram (+) positive bacteria

(c) Both of the above

(p) None of the above

SiieTy] g g 579 9 e gRIETd § 2
() T (-) Frifea sadifan

(8) WM (+) difefed saiar

(© R Gu g

() 57 A BIS I

Sl. No.65
QBID:15750940

Cyanophyceae in general are
(A) Autotrophs

(8) Heterotrophs

(c) Obligate photoautotrophs

(p) Obligate heterotrophs

HIURUG: AsBsd dsid g 2
(A) TEOMEf
(8) Taumg
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(©) T UHTIRaU!
(p) aTeg fguHT

Sl. No.66
QBID:15750941

Given below are two statements: one 1s labelled as Assertion-A and the other 1s labelled as Reason-R
Assertion-A : Regions of active cell division are responsible for the increase in the length of roots and stems
Reason-R : Growth 1s an irreversible increase in volume or size

In the light of the above statements, choose the correct answer from the options given below :
(A) Both A and R are true and R is the correct explanation of A
(8) Both A and R are true but R is NOT the correct explanation of A

(C) A istrue but R 1s false
(D) Ais false but R is true

< €1 Py AU Y B: U DY (Assertion-A) & FU H [A1Rad ¢ Al U SUP DRUI (Reason-R) P &Y H
HBYA-A : Hlshg DI faUToH & &7 WS1 d ol B dars 4 gl & fofy TR © |

BRUIR : A @ 39 T TG 9/ ®i gl Ped ¢ |

TR B & Tl o, 7 U 7Y [debedl ¥ 8 Had SUgad S<R & 997 By

(A) A SRR EH T8I ¢ SRR, A D ol Ol 8

(8) A SRR TR e, AP R AT TE TrEn TRl

(© ATEIEAPIRTEITE ]
(@) ATSITEI S APTR TSI B

Sl. No.67
QBID:15750942

Given below are two statements: one is labelled as Assertion-A and the other is labelled as Reason-R
Asgsertion-A : Eubacteria are sensitive to chloramphenicol
Reason-R : All bacteria are sensitive to chloramphenicol

In the light of the above statements, choose the correct answer from the options given below :
(A) Both A and R are true and R is the correct explanation of A
(B) Both A and R are true but R is NOT the correct explanation of A

(€) A is correct but R 1s not correct

(D) A isnot correct but R is correct

:ﬁaaWﬁEW% G2 HUHYF (Assertion-A) %Wﬁﬁ’l@ﬂ%fﬁmmw (Reason-R) HEIH
HYHY-A - TIFIAT ARG Id & Wia GdeTMa gia ¢ |

HRULR : ot SfiaT0] FaRap-iipld & W YdeTia gid & |

SRIFd HUH & el H, i iU T fde el & 9 964 981 3R &1 994 Difoig

(A) A3RRGHTTE SRR, AT T TR &

(8) A SRR IATAE, AT R, A T T AR ST ©

(© ATIE. AR AR

(D) ASHTE. APARITAR




Sl. No.68
QBID:15750943

Given below are two statements: one is labelled as Assertion-A and the other is labelled as Reason-R
Assertion-A : Growth is all irreversible increase in volume or size.

Reason-R : The shoot apical meristem is structurally more complex than the root apical meristem

In the light of the above statements, choose the correct answer from the options given below :

(A) Both A and R are true and R is the correct explanation of A

(B) Both A and R are true but R is NOT the correct explanation of A

(C) Aistrue but R is false
(D) Ais false but R is true

19 3 Py 14U U §: UH SHTUHYT (Assertion-A) F &9 I [A7Rad § ol g8 IUP BRI (Reason-R) P =TT
SHYHYA-A : 3T 3R 39§ SHhHUI dgR] Pl 3fg Hga ¢ |
HRULR : T ¥ OREH IRTTTES Y 4 Ja WY AREE S a1 5 e wicd ¢ |

SR B & 3l 1, - f3u Ty fasbedi T 9 9El IR &1 994 SIfoy
(A) ARREH TS ARR AT U6l ATAT &

(8) ARREH JUE. AFTR AT el IRBN el §

(© AYIE. AfFR AT

(D) ASHIE. APARITAE

Sl. No.69
QBID:15750944

Given below are two statements: one is labelled as Assertion-A and the other is labelled as Reason-R.

Assertion-A : Observation of cyclosis or cytoplasmic streaming is an indication of active metabolism for checking viability of the freshly
1zolated protoplasts

Reagon-R : Inclusion of Evan's blue dye by intact membranes is also indication of viability of the freshly isolated protoplasts.

In the light of the above statements. choose the most appropriate answer from the options given below :
(A) Both A and R are correct and R is the correct explanation of A
(B) Both A and R are correct and R is NOT the correct explanation of A

(€) A is correct but R 1is not correct

(D) A isnot correct but R is correct

19 3 Y 14U U §: TP SATUHYT (Assertion-A) F &9 T [A7Rad § Il g8 IUP BRI (Reason-R) B &Y H

HIUBY-A : ISFI Y Tl DIRIDIgd! YaTg Ta-IaeiiId UICIRIRE I Sia-&Hdl DI Sid B & (oY "ihd SUrg- &l g1 b
¥U T sgalied PRal gl

BRULR : 3i&{00 fifcedl gRT S0 & - Toid o1 9a1a% +t Fa-faafiia vieiane &t sfiaemd &1 3@ o
IRIFd FY & ATdlD 1. i AU 70 fdwedi § U Tol IR &1 94 o ;

(A) ASRREHI I T SRR, A DI TG I §

(8) A SRR EHI I . AftpT R, A P T e el §

(© AT APAR ITAT

() ASHIE AFTRIAR

Sl. No.70
QBID:15750945
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Given below are two statements: one is labelled as Assertion-A and the other is labelled as Reason-R
Assertion-A : Lateral heterogeneity is the unequal distribution of thylakoid complexes.
Reason-R : PS-II units are located exclusively in the appressed regions of thylakoid membrane

In the light of the above statements, choose the correct answer from the options given below :
(A) Both A and R are true and R is the correct explanation of A
(B) Both A and R are true but R is NOT the correct explanation of A

(C) A istrue but R is false
(D) Ais false but R 1s true

19 B Py U U §: TP HTUBYT (Assertion A) P U I [T § 1 THRI 3P BRI (Reason R) & &Y 1

YT A - U [ASHAT, Y1aS e &1 SRHH faaRu g |

PRUIR : PS II SHISUT UTSABITS f3ecit & had Jad &F1 | UG g ¢ |
IRIFd FY & AP 5. A 20 70 fddpedi § T Tol IR &1 90 BITo1g
(A) ASRREF TS AR R AT T6l ARAT§

(8) ARREH JUE. AP R AT el TSN el &

(© AYTE. AfFTR ST B

(D) ASHIE. APARITAE

Sl. No.71
QBID:15750946

Given below are two statements: one is labelled as Assertion-A and the other is labelled as Reason-R.
Assertion-A : Removal of apical bud (decapitation) causes loss of apical dominance.

Reason-R : Apical dominance is due to auxins and apical buds are site of auxin synthesis. Decapitation causes loss of auxin required for
apical dominatnee.

In the light of the above statements. choose the correct answer from the options given below :

(A) Both A and R are true and R is the correct explanation of A

(B) Both A and R are true but R is NOT the correct explanation of A

(C) Aistrue but R is false
(D) Ais false but R 1s true

19 B Py 14U U §: TP SATUHYT (Assertion-A) F &9 T [A7Rad § Al g8 3P BRI (Reason-R) P =TT

SHYSHYA-A : TN Hieta1 &1 S (RR=5 ) Y geT=a1 &1 g1 ugaran ¢ |

PRULR ; I g 3ifda" & SR eIdt € 3R 2 i siffan Tau & i § | RR=5e & BRI Y Je=dar & o
Mag® e @l g gl & |

SURI YU & el B, 19 BT T faewed! & O 9t 3R ol 99 S
(A) ASRREHI I T 3IRR, A DI TG O §

(8) A SRR EH A 8. APAR, A DI Yol A Tol &

(© AYTE APAR STAT

(D) ATTE. APTIRIAE

Sl. No.72
QBID:15750947
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Given below are two statements: one is labelled as Assertion-A and the other is labelled as Reason-R
Assertion-A : Bud pollination overcomes sexual incompatibility
Reason-R : At bud stage stigma lacks the exudate

In the light of the above statements, choose the most appropriate answser from the options given below :
(A) Both A and R are correct and R is the correct explanation of A
(B) Both A and R are correct but R is NOT the correct explanation of A

(€) A is correct but R 1s not correct

(D) A is not correct but R is correct

19 3 Py 14U U §: UH SHTUHYT (Assertion-A) F &9 T [A7Rad § Al g8 IUP BRI (Reason-R) P =TT

HMHYT- A - BT YA, AP ST B IRISTd Bl o
PR R : His! G H, sames § R st sl gl g |

IRIFd FY & AP 5. - IS0 70 fddpedi § I Tol IR &1 94 BITorg
(A) ASRREF TS AR R AT T6l ARAT§

(8) ARREH JUE. AP R AT el TSN el &

(© AYTE. AfFTR ST B

(D) ASHIE. APARITAE

Sl. No.73
QBID:15750948

In which sequence the following structure/organ would be seen in ovule of cveas.

A Free nuclear @ gametophyte
B. Mature archegonium

C. Pollen chamber

D. Embryo

E. Seed

Choose the correct answer from the options given below :
() C.B.A.D.E
;) A.C.B.D.E

) B.A.C.D.E
) A.B.C.D.E

e & diors 1 A9 d) 1 gemmnalt/ 3 & g $u T S S 2

A TF AMST @ THDIGIE
B. URUS WY

C. RAT DY
D. Y0
E. dldl
i feu U fddenl § U 95! 3R &1 994 il
) C.B.A.D.E
) A.C.B.D.E
(c) B.A.C.D.E
() A.B.C.D.E

Sl. No.74
QBID:15750949
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Arrange the geological history of earth starting from most recent eras

A. Proterozoic
B. Archaezoic
C. Coenozoic
D. Palacozoic
E. Mesozoic
Choose the correct answer from the options given below :
(a) A.B.D.C.E.
;) A.D.EB.C
) C.E.D.A.B
) C.D.A.B.E

gl & AT & Siier 3 Jad 31YHS $Ia J SR Fd §U Jol o1 § o0ayd 3 |

A. grsidt

B. RIPIA

C. Hawirat

D. RRTaidibTe

E. HGildl
A= f¢u Tt fasedl & O gl SR &1 994 Bifoie:
(a) A.B.D.C.E.
) A.D.E.B.C

(c) C.E.D.A. B
m) C.D.A.B.E

Sl. No.75
QBID:15750950

Arrange the following National Park in order of their location from West to East

A. Bandhavgarh
B. Gir

C. Hazaribaugh
D. Namdapha
E. Manas

Choose the correct answer from the options given below :
() B.AED.C
) A.C.B.D.E

(c) A.B.C.E.D
() B.A.C.E.D

- fau U gty Sl @1 uige 3 qd @1 ok S UM & SR R ouaieud o |

A ST
B. R
C. BURIERT
D. THaI%T
E. 5H
i foU T faedl O T 51 TR &1 90 DIiuI:
) B.AED.C
@) A.C.B.D.E
() A.B.C.E.D
() B.A.C.E.D



Sl. No.76
QBID:15750951

Arrange the following groups of gymnosperms from advanced to primitive

A. Gnetales
B. Cycadofilicales
C. Coniferales
D. Cordaitales
E. Cycadeoidales
Choose the correct answer from the options given below :
(a) A.B.C.D.E
;) A.C.E.D.B
() B.E.D.C.A
m) A.C.D.E.B

= faU U Sgdsiiiorl & 9ig @ [ae i ¥ 31ien & %0 1 oafed 32 |

A dleE
B. Ugdsiibidae
C. BimYeE

D. Plocd

E. Gaapfeues
i fSu U fadenl § U 95! 3R &1 994 Bioi:
(a) A.B.C.D.E
) A.C.E.D.B

(c) B.E.D.C.A
() A.C.D.E.B

Sl. No.77
QBID:15750952

Post fertilization change in Marchantia involves multiple changes. Arrange them in the correct sequence.

A wall of venter divides and gives rise to calyptra.
B. formation of perigynium
C. cells of capsule wall develop annular thickening
D. distinet amphithecium is formed
E. spore mother cells are formed
Choose the correct answer from the options given below :
(a) A.B.C.D.E
) A.B.D.C.E
) A.D.B.C.E
) A.D.C.B.E

a1 31 8 (89 & 918 9gd 9 uRad 81d ¢ | 5¢ 981 94 H ogafeyd & |

A. 323 1 il fauifera 81 ot 8 iR Pfergr o1 Faforglars |
B. IR Haa S a1 |

C. §e Ui o1 SIRHTe ¥ aedeR wie |

D. GHI¥ SeREay &1 & |

E. SIS 5-& I &1 fHafor |

i feu Tu fadeal § U Ugl 3R & 994 DIl -
) A.B.C.D.E
;) A.B.D.C.E
© A.D.B.C.E
m) A.D.C.B.E
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Sl. No.78
QBID:15750953

What will be the order in which the following steps would be performed in the technique of herbarium making

A. Mounting
B. Filing

C. Pressing
D. Collection
E. Labeling

Choose the correct answer from the options given below :
() D.B.C.AE
) B.D.AC.E

(c) C.A.D.E.B
m) D.C.AE.B

ERANTH & B aPA1P 1 A" 6T 70 9107 Hi 9 % ¥ Ted fGogr s 2

A. SRIT0T
B. SiR&™A
C. GaMT
D. 998
E. i
i fau U fadhedl § 9 Hel STR &1 994 Bifole:
) D.B.C.AE
) B.D.AC.E
) CCA.D.E.B
m) D.C.AE.B

Sl. No.79
QBID:15750954

Which of the following four types of protosteles are recognised in pteridophytes

A. Haplostele

B. Actinostele

C. Siphonostele

D. Plectostele

E. Mixed protostele

Choose the correct answer from the options given below :
) A.B.C.D
) A.B.C.E

(c) A.C.D.E
() A.B.D.E

Rt m S Esrec i I Y IR IR Pl IggH I TR 8 2

A TERETE
B. Ul
cﬁ@ﬂﬁﬁr
D. Aldiy
E. fAfgd sy
i feu U fadedl § U Ugl 3R & 99 diflt:
(a) A.B.C.D
;) A.B.C.E
) A.C.D.E
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Sl. No.80
QBID:15750955

Griven below are two statements:

Statement-I : In C, plants, carboxylation of PEP occurs in bundle sheath.
Statement-II : Decarboxylation of Cj acids occurs in mesophyll cells of C,; plants.

In the light of the above statements, choose the most appropriate answer from the options given below :

(A) Both Statement-I and Statement-II are correct
(B) Both Statement-I and Statement-I[ are incorrect
(C) Statement-I is correct but Statement-II is incorrect

(D) Statement-I is incorrect but Statement-II is correct

4 @ pu Ry #:
BYA-1 - €, Uil  PEP T STa i< qarese & il g

P11 : C; 3 1 faprataiiferaur ., dielf @1 gofnwiiae Skl & g gl

BWRIad DY P HaAld T, I 14U MU fdbedi H Tel SR &1 999 HIfeI:
(A) TYA1 AR TA §

(B) WY1 AR II ST 3T S

(© PYTI A B, A YT 11 3T &

(0) PUTI 3T S, AT PN TS

Sl. No.81
QBID:15750956

Given below are two statements:
Statements-I : Hot spots of biodiversity must contain at least 0.5% or 1500 of world's 3.00.000 plant spices as endemic.

Statements-II : Hot spots of biodiversity must have at least 70% or more of its primary vegetation

In the light of the above statements. choose the correct answer from the options given below :

(A) Both Statement-I and Statement-II are true
(B) Both Statement-I and Statement-II are false
(¢) Statement-I is true but Statement-II are false

(D) Statement-I is false but Statement-II are true

Ta d P g E:

HYA-1 : Safafaedl & sic Wic § fay 1 3.00.000 U1EY YTl BT $H W HH 0.5% 1 1500 RIS GH AT G |
FYH-11 : Safafaydl & gle Wie T A HH I T 70% TT 3ifie T a8 iaal TaTd 81 71 of |

SIRIK DY & 3Hle 1, = U 71U fdeedl & Ied Suged SR @1 99 HITWU :

(A) HYT1 AR I TSR
(8) HYF 1 IR I 31 7Teid §
(© Y198l . Al HYF 11 7Tdd &
(D) YT 17T ©. Wb BUT 11 Tl &

Sl. No.82
QBID:15750957
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Given below are two statements :
Statements-I : Auxins delay the onset of leaf abscission
Statements-IT : Abscisic acid promotes leaf senescence independently of ethylene hormone

In the light of the above statements, choose the most appropriate answer from the options given below

(A) Both Statement-I and Statement-II are correct
(B) Both Statement-I and Statement-II are incorrect
(C) Statement-I is correct but Statement-II is incorrect

(D) Statement-I is incorrect but Statement-II is incorrect

BIEACZICACUR I
DY -1 ; ST T F = S IR ol R e & |
PYU -11 - TS . SUTSE gHH & 91 Wdd =9 9 Idl J ofitfar & s aaig |

IRIFd HYF & ATdlP 1. A1 f2u 70 fddbedi ¥ gl SR &1 999 Pifeid:
(A) FYTIARI S T &

(8) HYTI RIS A §

(© HY1IA 3, Alh HYF 11 3 8

(0) PUTI 3T S, AT PN TS

Sl. No.83
QBID:15750958

Given below are two statements:
Statements-I : Oxygen produced by algal photosynthesis allows the growth of acrobic bacteria.
Statements-II : Commensal relationships are associations in which both the interacting organisms benefit from each other.

In the light of the above statements, choose the most appropriate answer from the options given below

(A) Both Statement-I and Statement-II are correct
(B) Both Statement-I and Statement-II are incorrect
(C) Statement-I is correct but Statement-II is incorrect

(D) Statement-I is incorrect but Statement-II is incorrect

EIECICRIEICUR) E

HU -1 - Yard B YHT YR GRT ICF SARASH T gRI angeidt sharoysf @t gfE gt 81
HYA-I1 : FgHTol ddy et TRt § ford sia:ferm &3 a1t <1 offa T R § a1 Wi B &
SIRIK DY & 31aiie H, 1= iU 7 fdeedi §  Fed I9gad 3R &1 997 BIoE:

(A) Y1 AR 1M FET B

(8) WU RS 11 &I e &

(© FYF19el 6. AP HYF 11 7Tdd &
(D) YT 17TAd &, AP BUT 11 U6l &

Sl. No.84
QBID:15750959
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Given below are two statements:
Statement-I : The periderm is a protective tissue of secondary origin in angiosperms and gymnosperms.
Statement-II : Periderm is the special type of protective tissue that occurs in underground organs of some families.

In the light of the above statements. choose the correct answer from the options given below :

(A) Both Statement-I and Statement-II are true
(B) Both Statement-I and Statement-II are false
(¢) Statement-I is true but Statement-II are false

(D) Statement-I is false but Statement-II are true

Taarpyfeumue:
HYF 1 : AAaito! qUT SHgaariord] H U= 10 SRl & U6 WeP U § |
HU 11 : IR U 92 TR &1 WRE S0 & ol PO URaRI & ST 3l H IR S ¢ |

IRIFd HYF & el 0. A1 feu 78 fdwedi § T Tl SR &1 904 ol :
(A) FYTIARI S T &

(8) HYTI RIS A §

(© HY1IA 3, Alh HYF 11 3 8

(D) FYFIHTA . AP I TA §

Sl. No.85
QBID:15750960

Given below are two statements:
Statement-I : An organism in which a chromosome. or a picee of a chromosome is over represented is referred as a hypoploid

Statement-II : An organism in which a chromosome. or a piece of a chromosome is under represented is referred as a hyperploid

In the light of the above statements. choose the correct answer from the options given below :

(A) Both Statement-I and Statement-II are true
(B) Both Statement-I and Statement-II are false
(c) Statement-I is true but Statement-II is false

(D) Statement-I is false but Statement-II is true

BRI LRI

FUF 1 : T S19 T U ORE. 1 ORE 1 U e sifd- wiaffia o=d € 3% sguwiigs @5 § |
HU 11 - U1 Si1a forgd uep U, 11 TUIgH 1 Ue foe &1 ufaffid $3d 8. 3% SRRWius $ed ¢ |
IRIFd FYF F el O, A1 feu 78 fdwedi § T Tl IR &1 904 1ol :

(A) BYTIARI A TAE

(8) HYTI AR I SH ST T

(© FYTIIT G, AT By 3T T

() FYTIIT . AfFTFUH I TA T

Sl. No.86
QBID:15750961



Given below are two statements:
Statement-I : Allopatric speciation requires thousands to millions of years and thousands of generations.
Statement-II : Allopatric speciation occurs commonly in plants through polyploidy.

In the light of the above statements. choose the correct answer from the options given below :

(A) Both Statement-I and Statement-II are true
(B) Both Statement-I and Statement-II are false
(¢) Statement-I is true but Statement-II are false

(D) Statement-I is false but Statement-II are true

BRI LRI
P 1 : fafUe S1fd IgHaa & U 89l § BRI oy auT guRi Uifedi ©f srawaaargiar g |
HU 11 - Gt F faenfies S Seue JTeRod: SgTfodT gRIS E |

IRIFd FYF P el 0. A1 feu 70 fdwedi § T Tl IR &1 904 1ol :
(A) FYTIARI S T &

(8) HYTI RIS A §

(© HY1IA 3, Alh HYF 11 3 8

(0) PUTI 3T S, AT PN TS

Sl. No.87
QBID:15750962

Properties of the genetic code are :

A. composed of nucleotide triplets
B. non overlapping except rare cases
C. comma-free
D. degenerate
E. ordered
Choose the most appropriate answer from the options given below :
(A) Aand B only
8) A.B and C only
(¢) A.B.C andD only

(0) A.B.C.DandE only
HAIRIE DTS P G-V T
A. gfFareTgs fedie
B. S gai¥ [awdl & BISHR SURER Ul
C. 3faxd
D. fagd
E. $it®

Fi= fdu e faeedl & ¥ G4 IUged SR &1 99 BT :
(A) FaAA AR B

(8) Had A, B 3R C

(©) $AGA.B.C ARD

(D) $AAA,B.C.D ARE

Sl. No.88
QBID:15750963
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Possible sources of contamination of the nutrient medium in plant tissue culture are :

A the medium itself
B. the culture vessel
C. the explant
D. the environment of the transfer area
E. the operator
Choose the most appropriate answer from the options given below :
(A) A Eonly
) B.C only
(c) A.B.C.Donly
(o) A.B.C.D.E only

UIey 0% HatH ¥ UINe ey & Jguul & Suifad Hid ¢ :

A HIEOT Y

B. 9a¥H BT &

C. Para®

D. SXITaRUT & $T qaiaul

E. JEA®
i feu U fadedl § U Ugl 3R & 99 DIl -
(A) PATA.E
(8) PaAdB. C

() BATA.B.C.D

(0) BATA.B.C.D.E

Sl. No.89
QBID:15750964

The flavouring constituent of Ferula assa-foetida is the exudate collected

A from the surface of leaves
B. from the surface of cut roots
C. from the flowers
D. from the surface of stem
Choose the correct answer from the options given below :
(A) BandD only
(8) B only
(c©) Aonly
(o) D only
o dl SFHIBICS] &1 Yad & aTdl dd U Hd REa g |
A TAi B gdg 9
B. BICI TS WSl & gdg °
C.Ugiy
D. i ®Igag 4

Hi= fu 77U fasedl & § G4 Iugad STk &1 98- BT -
(A) FaAB IR D

(B) Fdd B

(©) PHad A

(p) HFAD




Sl. No.90
QBID:15750965

Puccinia graminis tritici is a macro-cyclic rust fungi due to presence of

A, Pycmiospores
B. Acciospores
C. Uredospores
D. Teleutospores
E. Basidiospores
Choose the correct answer from the options given below :
(A) A.B.Conly
) A.B.C.Donly
(¢) B.C.D.E only

(0) A.B.C.D.E only

4 & ¥ fega! Iuitdld & SRuy Ui UhHY fCfeets us 4id Ib! fbg dad ¢ 2

A fofeaaR
B. 3RAOR
c. aRERR
D, SeRErR
Choose the correct answer from the options given below :

(A) $AAA.B.C

(8) $ATA.B.C.D
() $adB.C.D.E
(o) $AAA.B.C.D.E

Sl. No.91
QBID:15750966

Nitrogen. the main clement confributing to the growth of plants in vitro and in-vivo is the constituent of

A. Amino acids
B. Certain hormones
C. Co-facter of many enzymes
D. Chlorophyll
E. In storage and transfer of energy in plants
Choose the most appropriate answer from the options given below :
(A) A.Band C only
8) A.B and D only
(¢) B.CandD only

() C.D.E only

qTEl B U aUT Siid H T5eier dd e THTdhdl ¢ | U8 54 9 fadd] dued § 2

A, A RS

B. (1%d erAM

C. 9gd 9 TISH B Ug-BRD

D. FIRIA

E. U1l 8 FHoll & G- 9T S ieR0 8
19 fau ¢ fasedl & 4 a8 Iugad IR &1 98- B -
(A) HAAA, B3R C
(8) HaA A, B 3R D
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() BIUB. C IR D
(0) FTAC.D.E

Sl. No.92
QBID:15750967

Important characters of Barrachospermum are

A. fresh water habitat
B. sexual reproduction is of advanced oogamous type
C. chantransia stage is found
D. monospore produced from chantransia stage
Choose the correct answer from the options given below :
(A) A.B only
) A.B.C.D only
(©) A.C.Donly

) C.D only
Seopiegn 3 e aftaem g

A, drol ofd H 31aM |

B. Wmﬁaﬁamugﬁmw@m%i
C. IFITT a1 UTS STt

D. ATl 3awT ¥ THEIST STd 5l § |
i feu U f[ddeql § Wel 3O &1 999 SO
(A) Had A, B
(8) AT A, B.C.D
() AU A.C.D
(p) ®ad C.D

Sl. No.93
QBID:15750968

The characters that define family Amborellaceae

A. flowers unisexual, tricolpate pollen. endosperm triploid
B. flowers unisexual. monoaperturate pollen. single ovule
C. flowers unisexual. tricolpate pollen. single ovule
D. flowers unisexual, monoaperturate pollen. endosperm triploid
Choose the correct answer from the options given below :
(A) AandB only
(8) B and C only
(c) AandC only

(0) B andD only

TSR UfeaR o1 gRHTIYT P2 arell fa2eemd

A. Uofell gu. grgdiede W, BHAfod yoray
B. Uo{eil UW, UHgRS TR Qﬂiéﬁ‘ﬁﬂ‘s’
C. Uil gu. Zr5ehicdc WA, U diolis
D. THicl U, U gRe TRA. BEvd Yoy

Hi= fdu e foeedl & ¥ 94 IUged SR &1 98- BT -

(A) &HIT A IXB
(B) PHaAB IR C




(€) BT A IR C
(0) HIAB IR D

Sl. No.94
QBID:15750969

Match List I with List IT

LIST I LISTII

Buds are located above ground but low enough

A (RBcEBis E to not be exposed to strong wind.

Buds are located high, on shoots at least 25 to

B |Hcnplues 1, 30 cm above the ground level

Chamaephvtes | III. |Annual life span, survive stress as seed

Buds are underground as thizomes, bulbs,

D. |Phanerophvtes V.
corms

Choose the correct answer from the options given below :
(A) A-IL B CIL D-IV
(8) A-IIIL B-IV. C-I. D-1I
(c) A-IV. B-IIII. C-II. D-I
(p) A-IV. B-II. C-I. D-III

ail-1 & Ty Gl -11 BT (e Difery

T 1 T 1
DD YId & SR RUd i &, fbd
A [BaEfie L (3ot it gidt § fob o garedl o1 uHIg 481
o= |
PICTBIT HIR W UG eI &, Yo © BF
I O B U G N G S
i S Sfaty: diof & © 4 J g9
C [T | M |opryfrrof goolid el 2 |
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i< fu TTu faedl o el 3R &1 99 SIfU

(A) A-IL BI C-IL D-IV
(8) A-IL B-IV, C-I, D-II
(c) A-IV. B-III, C-II. D-I
(0) A-IV,B-IL C-1. D-III

Sl. No.95
QBID:15750970

Match List I with List IT

LISTI LIST IT
A |Auxins I |2-chloroethyl phosphonic acid
B. |Cytokinins II. |tetracvclic diterpenoids
C. |Ethvlene III. |dichlorophenoxvacetic acid
D. |Gibberlling IV. |furfurvlamino purine

Choose the correct answer from the options given below :
(A) A-IIL B-I, C-IV, D-II
(8) A-L. B-IV. C-II. D-III
(c) A-III B-IV. C-I. D-1I
(p) A-L B-IV. C-III D-TI
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YEI-1 D WY GAI-11 D T Sy

1 T 1T
A |sifegg [ IR BRI
' k|
B. |HiZcidgid I é“sﬁaﬁf”
STEGARIpIaUe®
C. [3urgeiH | o
D. |freicr IV. |[BROERE THHT T

i foU T [9edl O T U5l SR BT 997 DIl :
(A) A-IL B-1. C-IV, D-II
(8) A-L B-IV, C-II, D-ITT
(¢) A-IIL B-IV, C-I, DI
(p) A-L B-IV. C-III. D-1I

Sl. No.96
QBID:15750971

Match List I with List I

LISTI LIST II
A |O=xvlophytes I |wastelands
B. |Helophvtes II.  |marshy area
C. |Chersophvtes III. |acidic soils
D. |Psammophvtes TV, |sandy soil

Choose the correct answer from the options given below :
(A) A-L B-II, C-IIL D-IV

(8) A-IL B.L C-IV, D-II

(¢) A-IIL B-IL C-I, D-IV

(0) A-L B-IL C-IV, D-II

a1 & 1Y Gl 11 D1 e Hifeg
T 1 T I
A |sHideiE {Oxylophytes) L | Qﬂ:tf
B. |#=3IGIYUG (Helophytes) I &= &F
c |omifefie (Chersophytes) 1. |3&ia g1
D. Eﬂ@ﬂﬁ'ﬁ (Psammophytes) | IV. [Seiall el

=i feu U fddenl § U 95! 3R & 994 il -
(a) A-LB-II C-IIL, D-IV

(8) A-IIL B-I, C-IV, D-II

(¢) A-IL B-IL C-L D-IV

(0) A-L B-II, C-IV, D-II

Sl. No.97
QBID:15750972
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Match List I with List I

LISTI LISTII
A. |Tokyo-vokohama asthma I. |Photochemical smog
B. |Leaftip burn II. |Acid rain
C. |Fish gravevards III. |Fluoride pollution
D. |Global warming IV. |HFCs

Choose the correct answer from the options given below :

(A) A-LB-II C-IV, D-III
(8) A-LB-IIL C-IL D-IV
(¢) A-IL B-I C-IIL, D-IV
(0) A-IL B-I. C-IV, D-II

Yail-1 & FIY GI-11 BT (e Sifeg
T 1 T I
il grmrer
A | oo L |UERREEAS YA
B. |utf3figgd 1. [3ng guf
¢ |[r=r e 1L [FRIRTES Hgum
D. |wiieq aiff IV. |9 U% &t (HFCs)

=it fag e famedt & T et SR &1 =9u- P

(A) A-LB-II C-IV, D-III
(8) A-L B-IIL C-IL D-IV
(¢)y A-IL B-I C-IIL D-IV
(0) A-IIL B-I C-IV, D-II

Sl. No.98
QBID:15750973

Match List I with List IT

LIST I LIST IT
A Green pea L Cicer arietinum
B. Chick pea I Lathvus odoratus
5 Sweet pea 1. |Cajanus cajan
D Pigeon pea V. | Pisum sativum

Choose the correct answer from the options given below :

(a) A-IL B-I, C-IV, D-III
(8) A-IV, B-IIL C-IL D-I
(¢) A-LB-IIL C-IIL, D-IV
(0y A-IV,B-L C-II. D-II

YEI-1 D WY GAI-11 D 0 By

T 1 el 10
A [Bia= L |TEw Wi
B. [= . |y sfisheq
Cc |[®Ered I |dog oA
D. |eRER V. |gr5gs derzag

= fau T fasedl & 4 H6l TR &1 99 DI :

(a) A-II. B-I. C-IV, D-III
(8) A-IV.B-III. C-II. D-1




() A-L B-II C-IIL. D-IV
(p) A-IV.B-L C-II. D-III

Sl. No.99
QBID:15750974

Match List I with List I

LISTI LISTIT
A, |Damping off of seedlings I |Ustilago nuda
B. |Downy mildew of peas II. | Pythium sp
C. |Loose smut of wheat IIl. |Protomyces macrosporous
D. |Steam gall of coriander IV. | Peronospora pisi

Choose the correct answer from the options given below :
(A) A-II. B-IV. C-I, D-III
(8) A-IL B-IIL C-I, D-IV
(c) A-IL B-IV. C-III. D-I
(0) A-L B-IL C-IIL D-IV

Yail-1 & FIY GI-11 BT (e Sifeg

T 1 e I
A [die & TR g L | sfifect g3t
p |[FRBTES RE 1 | o gt
C. fEdgd ®s IIL. W??
D |y @ Wy e V. | GRIreieT fafyy
19 fau e faedl & 9 96l SR &1 98- DI :

(a) A-IL B-IV, C-1. D-III
(8) A-IL B-IIL C-L. D-IV
(¢) A-IL B-IV, C-III. D-I
(p) A-L B-II, C-IIL, D-IV

Sl. No.100
QBID:15750975

Match List T with List IT

LISTI LIST I1
A |Plerome I |precursor of epidermis
B. |Histogen II. |precursor of cortex
C. |Dermatogen ITI. |precursor of central vascular cvlinder
D. |Periblem IV. |precursor of tissue regions

Choose the correct answer from the options given below :
a) A-L B-IV. C-II. D-III
(8) A-IV. B-II. C-III. D-I
(c) A-IL B-IV, C-I. D-1II
(p) A-II B-IIL C-L. D-IV

34 of 35



35 of 35

YEI-1 D Ty GAI-11 D1 TeH Hieg

T 1 Tt 10
A [eE L |aTerad &1 gdadt
B |3FdeH 1L |SIcT @ ydadi
c. |aamH 101 %—?gm SR 1
D. |[depesH IV. [3dd &l &1 gdadl
= fu e faeed! o 9 et SR 989 BT

a) A-L B-IV. C-II. D-III
(8) A-IV.B-IL C-III. D-I
(c) AL B-IV. C-1. D-1I

(0) A-IL B-IIL C-I. DIV
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NATIONAL TESTING AGENCY
Final Answer Keys of CUET - PG 2022

Exam Date : 10.09.2022 Exam Shift : First Course :PGQP76-Botany
Question ID Correct Option Question ID Correct Option
1575091 B 15750939 B
1575092 A 15750940 C
1575093 A 15750941 A
1575094 B 15750942 C
1575095 C 15750943 B
1575096 C 15750944 C
1575097 C 15750945 A
1575098 D 15750946 A
1575099 B 15750947 B
15750910 D 15750948 B
15750911 B 15750949 C
15750912 C 15750950 D
15750913 C 15750951 D
15750914 D 15750952 B
15750915 C 15750953 D
15750916 A 15750954 D
15750917 C 15750955 B
15750918 B 15750956 A
15750919 A 15750957 A
15750920 B 15750958 C
15750921 C 15750959 A
15750922 D 15750960 B
15750923 B 15750961 C
15750924 B 15750962 D
15750925 B 15750963 D
15750926 B 15750964 A
15750927 A 15750965 D
15750928 D 15750966 B
15750929 A 15750967 B
15750930 C 15750968 D
15750931 B 15750969 B
15750932 C 15750970 C
15750933 B 15750971 C
15750934 B 15750972 B
15750935 A 15750973 D
15750936 B 15750974 A
15750937 C 15750975 C
15750938 D

Note :- Correct Option 'DROP' means the question is Dropped, Marks awarded to all candidates Page 118



Performance at a glance

P \ N
Ramika Singla Aditi Godara Anand Kumar Parul Tomar Meera Kumari Ishita Gupta Anupam
HRO7001160 HR05603452 329376 329768 328588 355705 329559

P AR

Adarsh Kumar Chandni Sood Reena Sharma Harsha Raheja Preeti Maurya Surjeet Gunjan Nikita Kalyan
324665 328406 326954 300878 kx{ory] 329258 313277 HR0716200063

Neeraj Verma Akshay Kumar Pooja Sonam Basit Gulzar Sinjini Dhang Heena Agrawal Piyush Pachauri
JK0216200605 HR09600532 355130 324075 322938 344373 329376 326477
2 New Delhi A Greater Noida, Uttar Pradesh
G-92, 115, 1st Floor, Pratap Complex 30/7, Knowledge Park III
Munirka Metro Station, Gate Number - 3 Greater Noida, Uttar Pradesh - 201308

New Delhi - 110067

Aayushi Mittal Ishu Aggarwal Tanu Saroha

319345 326774 323975 contact@pathfinderacademy.in

@ pathfinderacademy.in L 9818063394






